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SILK HEADLIGHT BULB SERIES HiAEj3 i 1] %

/

"Silk"ri - the name for the ultimate aesthetics.
If you want the premiere brand, choose it.
You'll be completely satisfied when you get "Silk."rv



bB SK7 H12.2~ NCP3#% 2947 H4 HB4
MR2 2R7 o=~ $59.6~H1.10 AWT #F 2947 - - -
2R7H—R H1.10~H11.8 SW20% 2947 217 H4 H3
MR-S 2R7A—=TF >~ H11.10~ ZZW30% 2547 217 H4 —
RAV4 3R7/5K7 H6.5~H9.9 SXATH#% 24947 247 H4 -
3R7/5K7 H9.9~H12.5 SXA1# % £547 447 HB3/HB4 —
2947 H12.5~ CA2#WH 2547 217 H4 HB4
Will Vi 4K7 H12.1~H13.12 NCP19% 2947 247 H4 —
b= 4R7ET> H7.5~H9.10 MCX103% 24947 247 H4 -
4RT7 RS H9.10~H12.4 MCX10% 2547 447 HB3/HB4 H3
FURb 4R7EY> H3.10~H9.8 28144 % 24947 411 9005J/9006J H3 Hid /X)) T BATA]
ART RS> H9.8~ Z2S16#% 2547 447 HB3/HB4 HB4
7INTA SK79Iy H10.7~ V5 #G% 2947 441 HB3/— H3
ThNTYV7 ART7 &SV H10.10~ XE10% 2947 441 HB3/HB4 HB4
FLyo2R 2547 H13.1~ ZZE12#/NZE12#% 2947 217 H4 -
ATY A SKR7TIY H8.5~H10.5 XM1 #GH 2547 447 HB3/H7 H3
SE7ZTIY H10.5~H13.5 XM1#G% 24947 411 HB3/HB4 H3
T4y 3R7/5K7 H11.1~ CP1#% £547 247 H4 —
EERZAN 4K7 H3.9~H8.8 VCVI# % 2547 41 HB3/— H3
4K7 H8.8~H11.8 MCV2 # % 2947 447 HB3/H7 H3
4K7 H11.8~H13.8 MCV2# % 24947 41 HB3/— H3
IRFAT =2 H2.5~H10.1 TCR1#/TCR2# % 2547 247 H4 H3C
= H10.1~H12.1 TCR1#/TCR2# % 2947 24 H4 HB4
i H12.1~ CR30W/CR40WH G 447 HB3/— —
73> Hi2.1~ CR30W/CR40WH X/J 247 H4 HB4
=P H12.1~ CR30W/CR40WZH AERAS 441 HB3/— HB4
IRFAXIZ—F o4y H4.1~H7.1 R1#/R2#% 2947 4 HB3/HB4 -
D= H7.1~H12.1 R1#/R2#% 2547 217 H4 —
IZAT4I ML= =2 H4.1~H12.1 R1#/R2#% 24947 247 H4 -
F—% £947 H12.5~ CT1#% £547 247 H4 HB4
HAT SKRZDIY H10.5~ XM1#G 2947 411 HB3/HB4 H3
hbY 4K7 S61.8~H2.7 V2 #% 2547 - - —
4K7 H2.7~H6.7 V3#FR pAsEESAN 247 H4 H3
4K7 H2.7~H6.7 V3#% 2547 (FOIx VMR | 20T H4 —
4K7 H6.7~H10.7 V4# % <) 24 H4 H3
4K7 H11.8~H13.9 V2#% 2547 447 HB3/HB4 H3
b U527 4R7EY> H8.12~H11.8 V2H#% 2947 247 H4 H3
=P H8.12~H11.8 V2 #WH 2947 247 H4 H3
o4y H11.8~H13.11 V2 #WH 2947 4 HB3/HB4 H3
hyU—+ 4RT7 R $63.5~H4.8 TI7T#% 2547 — - -
4R7ET> H4.8~H8.8 TI9#% 24947 247 H4 H3
4R7ET Y H8.8~H13.12 T21#% £547 247 H4 H3
Ny $63.5~H4.11 TI7#VE 2547 = = =
HY—FED 4RZN—KEyT S60.8~H1.9 STI6#% 2947 247 - -
4ARFN—KbyF H1.9~H5.10 STI18#% 24947 247 H4 -
4RZN—Kby T H5.10~H10.4 ST20#% 2547 247 H4 —
HAY—FH4-—27 = $63.5~H4.11 T170G% 2447 = = =
AT 4T N> H4.11~ T19#V% 2547 - - -
73> H4.11~H9.9 T19#G% 2947 247 H4 H3
=P H9.9~H11.12 T21#G/T21 #WH 2947 441 H7/H7 H3
74> Hil.12~ T21#G/T21 #WH 2947 4 HB3/H7 HB4
122 2R7H—~ H6.1~H7.9 ST20#% 2547 217 H4 H3C
2EFZO=A H7.9~H10.8 ST20#% 24947 247 H4 -
hn-3> 4R7ET Y $62.5~H3.6 E9# % £947 - - -
4R7ET> H3.6~H7.5 E10#% 2547 21 H4 -
4RT R H7.5~H12.8 E11#% 2947 247 H4 —
4R7ET> H12.8~ E12#% 24947 247 H4 HB4
Ny $62.8~H3.9 E9#VH 2547 - - -
Ny H3.9~ E10#VH 24947 = = =
Z24=NVF—(93) H12.8~ E12#GH 2547 247 H4 HB4
73> H3.9~H9.5 E10#G% 2947 247 H4 H3
= H9.5~ E10#G% 2947 247 H4 —
A=l 3K7/5EFZNyFNy5 | S61.5~H2.9 L3#ZE 2947 = = =
3RZNYFNRY Y H2.9~H6.9 LA#Z 2547 217 H4 —
3RZNYFNRy S H6.9~H11.7 LS#%R 24947 247 H4 -
Hho—35FX 3K7/SEZNyFNyS | S62.5~H4.5 AE92% £947 247 - -
3RZNYTFNYY H4.5~H7.5 AE101% 2547 21 H4 H3
HhA—3 RNTF SKR7DIY H9.1~H11.4 AETT#NF 2947 247 H4 —
HSPEN H11.4~H13.5 AETT#NFR 24947 247 H4 H3
ha-=5 L2 4RTN=Fby T H4.5~H10.8 AE10# % 2547 447 H1/H3C —
HA-5 5VV2R 2947 H13.1~ ZZE12#/NZE12#% 24947 24 H4 -
ha-35 LEY 2R7 $62.5~H3.6 AE9# % 2947 24T H4 —
2R7H5—R H3.6~H7.5 AE10#% 2947 247 H4 =
2R7H—N H7.5~H9.4 AETT#% 2947 247 H4 —
2R7H—AN H9.4~H12.8 AETT#% 2947 47 HB3/H7 -
FvNAUT 2R7/4K7 H8.1~H11.11 TJGOOZ 2547 447 HB3/HB4 —
2R7/4R7 H11.11~H12.7 TJGOOF 24947 247 H4 -
Fr3 SKR7DIY H11.5~H12.5 JI0H#E/J12#ER £547 247 H4 —
SKRZDIY H12.5~ J10#E/JI2#ER 2547 411 HB3/HB4 -
59 4RT R $62.9~H3.10 S13#% 2947 247 - -
4R7ET> H3.10~H7.12 S13#% 24947 247 H4 -
4RT7 RS H7.12~H11.9 S1S#% 2447 247 H4 H3C
4R7EY> H11.9~H13.8 SIS#% 24947 24 H4 =
ARTN=Kby T S62.9~H3.10 S13#% 2547 - - -
4ARFN=RbyF H3.10~H7.8 S14#% 2947 247 H4 =
v7 H7.8~H9.7 SIS#% 2947 247 H4 —
4RFN=KbyT H9.7~H11.9 SIS#% 2947 47 HB3/HB4 -
H11.12~ S17#WZ 2547 447 H7/— —
IZF—th Hil.12~ SI7#WH FRY—b2U-X 247 H4 -
o4 ¥IWV/7RY—k H11.9~ S17#% O4¥ILyY—X 47 H7/— —
o4 v)V/7RU—k H11.9~ S17#% FRY=—bYY=X 21 H4 -
=2 $62.9~H3.10 S13#W/S13#GH a4 )—x - - -
=2 H3.10~H11.12 S13#W/S13#G% 2947 247 H4 =
i 4 H11.12~ S17#WX 2547 247 H4 —
=P Hil.12~ SI7#WH a4 )—X 411 H7/— =
959 Av74—h HI.1~ XS10% FRY—bY—X - - -
Y EPPAPEY Y] H11.9~ SI7#% 2947 441 H7/— -
H3.10~H7.8 UzZS14#% 2947 247 H4 H3C
< H7.8~H9.7 UZS15#% 2947 217 H4 -
[ H9.7~H11.9 UZS15#% 2547 447 H1/HB4 —
4RZN=KbyT H9.7~H11.9 UZS15#% ES14T 411 H1/— -
IS5V ENATI—2R =2 H11.8~ CH1#% A/C/FSAT 247 H4 HB4
JS5VET =2 H7.8~H11.8 CH1#% 2547 21 H4 H3C
=2 H11.8~ CH1#% 2947 247 H4 HB4
sIV=H-=V HSPEN HI2.11~ U2#% 24947 411 HB3/HB4 -
sL2RY 4R7ET > $63.8~H4.10 X8 # % 2547 - - -
4R7EY> H4.10~H8.9 XO#% 24947 24 H4 H3C
4ART RS> H8.9~H10.8 X10#% 2547 247 H4 HB4
4R7EY> H8.9~H10.8 X10#% NS5—> I5—>G-SLs | 41T HB3/— -
ART7 &SV H10.8~H13.6 X10#% N5—2 N5—2G-S 247 H4 HB4
4R7ET H10.8~H13.6 X10#% WZ=2 5 —2G-SES | 4T HB3/— -
Y 3R7/4K7 H2.9~H6.9 LA#F N5—> N5—=2GS 217 H4 —
3K7/4R7 H6.9~H11.7 LS#% 24947 247 H4 -
3K7/4R7/5KR7 S61.5~H2.9 L2#/L3#% 2547 - - -
an* 4E7/5K7 $62.12~H4.2 TI7#% 2547 = - =
4RT7/5K7 H4.2~H8.1 TI9#% 2947 247 H4 H3
4R7ZIVIA H8.1~H13.12 T21#% 24947 247 H4 H3
P S60.8~H1.9 ST16#% 2947 - - -
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Ny $62.12~H4.11 TI7#V% 2947 = = =
a0+ EXIV ARTN—Rby T H1.9~H5.10 ST18#% 2947 217 H4 —
4RFN=KbyF H5.10~H10.4 ST20#% 2947 217 H4 -
a0+ FLs4 4R7 RS H8.1~H13.12 T21#% 2947 217 H4 H3
1 74—h 4R7ET Y H9.1~ XS11% 2947 = = =
YA/ R 2K7 H7.9~H11.7 ELS#% 2947 217 H4 -
2E7H—R H3.1~H7.9 EL4#F 2547 217 H4 -
2—-75 3RZUT bRy Y S61.2~H5.5 A70% 2547 217 H4 -
3RZUT bRy Y H5.5~ JZAB0% 2547 417 9005J/9006J H3 Yt/ T EETRA]
2&—Ly bk 3RZ/SKEZNYyFNyH | S59.10~H1.12 P7#% 2547 - - -
3RZ/SRZNYyFNySH | H1.12~H4.1 P8# % 24947 217 H4 =
3KR7/5RZNyF/Nys | H41~HB.1 P8# % GTLUSH 21T H4 -
3RZ/SEZNyF/INysH [H4A.T~H8.1 P8# % GT 441 9005J/9006J = St/ TBETRA]
3K7/5KEFZNAyF/Nys | HBI~HI1.7 PI# 2947 217 H4 —
2T~ 4R7 RS H3.6~H7.5 E10#% 2947 217 H4 -
4R7 S H7.5~H12.8 E11#% 2947 217 H4 —
4K7+£¥>/5E7>TA | S62.5~H3.6 E9#% 2947 = = =
Ny $62.8~H3.9 E9#VH 2547 — - -
N H3.9~ E10#VH 2947 = = =
i H3.9~ E10#GR 2547 - - -
E P2 D SKR7ZDIY $63.2~H7.8 AE95GH 2947 247 H4 -
Sk79I> H7.8~ AET1#GR 2547(@YVED) 247 H4 —
D2 e 2R7 H1.5~H3.6 AE9H# R 2947 217 H4 =
2R7H—R H3.6~H7.5 AE10#% 2547 447 H1/H3 —
2R7H—AN H7.5~H9.4 AETT#% 2947 217 H4 =
2R7 45—~ H9.4~H12.8 AETT#% 2947 447 HB3/H7 —
27Yv5—=U/ 4RFN=KbyF H4.5~H10.8 AE10#% 2947 447 H1/H3C -
75— 2R7H—~ H5.11~H8.4 V15% 2947 217 H4 H3C
4R7ET Y H4.11~H8.7 V10% 2947 247 H4 H3C
=2 H4.8~H8.6 V15W% 2547 247 H4 H3C
€5 =~ H2.3~H7.12 EXY10% 2547 47 H1/H3C -
tUh 2R7 $60.8~H1.9 ST16#% 2547 - - -
2R7. H1.9~H5.10 ST18#% 2947 247 H4 -
2K7 H5.10~H9.12 ST20#% 2547 447 HB3/HB4 H3
2R7. H6.8~H7.12 ST20#% AVN=FTN 441 HB3/HB4 H3
2K7 H7.12~ ST20#% AYN=FTN 447 HB3/HB4 HB4
2R7. H9.12~H11.9 ST20#% GT-FOURLISH 441 HB3/HB4 H3
2R7 H9.12~H11.9 ST20#% GT-FOUR 447 HB3/H1 H3
2K7 H11.9~ 77T23#% 2947 447 HB3/H7 H3
T F 4R7 S H1.10~H6.10 UCF1#% 2947 217 H4 —
4R7ET Y H6.10~H9.7 UCF2# % 2947 41 HB3/H4 HB4
4R7ET Y H9.7~H12.8 UCF2# % 2547 447 HB3/— -
4R7ET > H12.8~ UCF3#% 2547 41 HB3/— HB4
£ Fal— 4R7ET Y H4.3~H9.4 VGA#F 2547 217 H4 -
4R7ET > H9.4~ GZG50% 2947 417 HB3/H4 HB4
U735 2R7 45—~ S61.1~H3.5 22#% 2547 447 —/H4 -
2R75—R H3.5~H6.1 23#% 24947 441 9005J/9006J = it/ T BETRA]
2R7H—R H6.1~H13.4 Z3#% 2547 44T — H3
-t 3R7/4R7 H2.9~H6.9 L4 F 2947 217 H4 =
3R7/4R7 H6.9~H11.7 LS#% 24547 247 H4 =
3K7/4R7/SK7 S61.5~H2.9 L2#/L3#% 2947 = = =
ELPZE Y N S57.12~H4.1 R2#V/R3#VZ 2947 - - -
Ny H4.1~H8.10 R2#V/R3#VH 2947 = = =
Ny H8.10~ RA#V/RS#VHR 2547 - - -
o4 S57.12~H4.1 R2#G/R3 #GH 2947 = = =
= H4.1~H8.10 R2 #G/R3 #GH 2547 217 H4 —
SOVI-R /T g H8.10~H10.12 R4#G/RS #GH 2547 247 H4 H3
= H10.12~H13.11 R4 #G/RS #GH 2547 217 H4 HB4
FrAY— 4RZN=RbyF $63.8~H4.10 X8#% 24947 217 H4 =
4RZN—Kby 7 H4.10~H8.9 X9# % 24947 24T H4 H3C
4RZN—RbyF H8.9~H13.6 X10#% XL 441 HB3/HB4 -
ARZN—Kby T H8.9~H13.6 X10#% TNYTHR 44 HB3/HB4 —
4RFN=KbyT H8.9~H9.8 X10#% Y7 5=S-V 447 HB3/— -
4RFN—KbyT H8.9~H9.8 X10# % V75— 447 HB3/HB4 HB4
4RFZN—KbyT H9.4~H13.6 X10#% S574—% 41 HB3/HB4 HB4
4RFN—Kby T H9.8~H13.6 X10# % YF75—YF75=SV 417 HB3/— -
V—UYF N{I—-2R P2 H11.8~ CH4#WH 2547 247 H4 H3C
FaIvh SKRZNyFNyY H10.9~H12.5 M1##% 2547 217 H4 -
SKRZNYFNy Y H12.5~ M1##% 2547 247 H4 H3
FT4T Sk797I> H10.8~H11.6 N1#% 2547 247 H4 HB4
SKR7Z7IY H11.6~ N1#% 24947 217 H4 =
NAI—2R N> S57.12~H1.8 H6#VHR 2547 - - -
N H1.8~ H1# #V/H1##KR 2947 = - =
= S57.12~H1.8 H5 #G/H6 # G% 2947 - - -
o4y H1.8~H8.8 H1# #G/H1 # #WHR 2947 217 H4 H3
o3> H8.8~ H1# #G/H1 # #WH 2947 217 H4 H3
NAI—=RLITR Ny H9.6~ CH4#V% 2547 = = =
=2 H9.4~ CH4#W/CH4 #GH 2547 217 H4 H3
NASYUR 2547 $63.10~H9.9 N10#% 2547 = = =
2547 H9.9~ NT4#/N16#/N17#% 217 H4 -
NSyHRY—7 2R7. $59.5~H1.5 N61% 2547 = = =
2R7/4K7 H1.5~H7.12 N13#% 2547 247 H4 —
SKR7ZDI> H7.12~ N18#% 2947 217 H4 H3
NYT7— SKR7DZIY H9.12~ UT#%R S-Package 44T HB3/— HB4
SK79IY H9.12~ UT#% G-Package 441 HB3/HB4 HB4
SKR7D I H9.12~ UT#% BEGA(T 441 HB3/HB4 HB4
Ex% 4K7 S61.8~H2.7 V2H#% 2947 = = =
4K7 H2.7~H6.7 V3#E 2947 217 H4 H3C
4K7 H6.7~H10.7 V4#F 2947 247 H4 H3
4R7 H10.7~ V5 # % 2547 447 HB3/— H3
ERY TINTH SE7Z9I> H10.7~ V5#G% 2547 417 HB3/— H3
7 h—d = H11.8~ CP2#% 2547 217 H4 -
759V 4K7 H11.8~ CP1#% 2947 247 H4 -
YUYz ART Y H9.12~ NHW1 # % 2547 247 H4 —
JUH—F 2947 $60.9~H2.2 LD2#% 2947 = = =
ZosL 4R7 T H10.5~ JCGT1#% 2547 44T HB3/HB4 HB4
Zof—K 2947 H12.4~ MCX20% 2947 441 HB3/HB4 HB4
<=2 ARTEY Y $63.8~H7.12 X8#% 2947 - - -
4R7 RS H12.10~ X1T#% 2947 447 H4/HB4 -
4RFN—KbyT $63.8~H4.10 X8# % 2947 — - -
4RFZN—KbyT H4.10~H8.9 X9# % 2947 247 H4 -
4RZN—KbyT H8.9~H10.8 X10#% GL 241 H4 HB4
4RZN—Kby T H8.9~H12.10 X10#% I50TR 247 H4 HB4
4RFN—Kby T H8.9~H9.8 X10#% Y7 5—=S-V 417 HB3/— —
4RZN—KbyT H8.9~H9.8 X10#% V75— 247 H4 HB4
4RFN—Rby T H9.8~H12.10 X10#% VTP 5= Y755V 417 HB3/— —
4RZN=RbyF H10.8~H12.10 X10#% ®U5VF bSUb 441 HB3/— -
4RZN—Kby 7 H11.4~H12.10 X10#% ¥ T VAYT 447 HB3/— —
Ny $59.11~H9.4 X7 #VH 2947 = = =
= S59.11~H9.4 GX70G% 2947 - - -
ESAPEDEY o4y H9.4~H11.8 V2H#% 2947 447 HB3/HB4 HB4
o3> H11.8~H14.1 V2H# % 2947 447 HB3/HB4 H3
RAY—I—2 o4 S57.12~H4.1 R2#G/R3 #GH 2947 = = =
SAFI-Z Ny $60.9~H4.1 M3 #V/M4#VE 2947 - - -
N H4.1~H8.10 R2#V/R3#VHR 2947 = = =
Ny H8.10~ R40V/R50VH 2547 - - -
g $60.9~H4.1 M30G/M40GH 2547 = = =
i A H4.1~H8.10 R2#G/R3 #GH 2547 247 H4 -
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AyRILMER VT 94T Hi/Low
SAMI-Z/7 ARF I H8.10~H10.12 R40G/R50GH 2947 247 H4 H3
4RF7D I H10.12~H13.11 R40G/R50G% 2547 247 H4 HB4
SYLh SE7ZTI> H9.5~ EXZ1#% 2947 247 H4 -
SYRON—H— 100/3> H10.1~ J101KZ 2547 — - -
10097 3> H10.1~ JT00WH 24947 451 HB3/HB4 HB4
60 $55.7~H1.10 J6#F £547 - - -
701X S59.10~H11.8 JT#/JTHVER 2947 = = -
70/x H11.8~ JTH#/JTHVER 25147 247 H4 -
7075 K H2.4~H8.5 JTHW/J7 #GHR 2947 24 H4 -
80/3 H1.10~H10.1 J81VHR £547 — — -
8073~ H1.10~H10.1 J80GHR 2447 211 H4 =
9075 K H8.5~H11.6 JIHWHR 2947 247 H4 —
9075 K H11.6~ CEES 2947 247 H4 HB4
SUFR H11.1~ J100WH 2547 441 HB3/H1 H3
VEFRI-R NV Ny H11.7~ H1# #V/H1 # #K% 2947 = = =
VIOFRNY Ny H11.8~ CH4#VH 2547 — — —
Vo794 = H11.8~ CH4# W% 24947 247 H4 H3
180SX 3R7H—AN H1.4~H11.2 S13% 25147 247 H4 —
AD/N> MAX/Y > H4.6~H11.6 Y10% 2547 - - =
Ny $56.10~H2.10 B11% 2547 - - -
Ny H2.10~H11.6 Y10% 24947 = = =
N> H11.6~ MEES 2547 - - -
ADD I MAX7 5> H4.6~H11.6 Y10% 2947 E = =
= H2.10~H8.5 Y10% 2947 247 H4 H3
Be-1 24947 S62.1~ BK10% 2947 E = =
NXZ —~ 3R7H—N H2.1~H6.5 B13% 2547 — - -
SRV SRZNyFNy Y H8.5~H12.8 N15% 24947 247 H4 -
FR==) H—T-Nv H2.5~H11.6 W10% 2547 - - -
=2 H2.5~H7.8 W10% 2547 247 H4 H3
=2 H10.8~ W11% 2547 441 H1/H1 H3
PECTERD) H7.8~H10.8 W10% 2447(x701927VAM [ 247 H4 H3
U3v(¥YUa-) H9.1~H10.8 W10% I7O0ISRTLR 447 —/H4 H3
474254 ART7 &SV H1.11~H5.6 GS50% 2447 24 H4 H3C
ART7 &SV H5.6~H9.9 G50% 2547 441 H3C/H4 H3
PEPZIE =M H8.5~H11.5 Y10% 2447(x701927VA0 [ 247 H4 H3
SKYDIY H8.5~H11.5 Y10% IFAISRTLZR 441 H1/H1 H3
SE7ZTI> H11.5~ Y11% R=Yys3Y—=X 247 H4 H3
SKR7DIY H11.5~ Y11 % Iy U—-X 241 — H3
IFR/5—h Ny H11.6~ W11% 24947 247 H4 -
IVZRMLAIL S5K7 H12.11~ T30% HIDHH 458 441 H1/— —
S5K7 H12.11~ T30% HIDE-#RE LS 24 H4 -
IZANT 2547 H1.1~ G20% 2547 - - -
INISUR 2947 H9.5~H12.8 ES0% 2947 24 H4 H3
2547 H12.8~ ESO% £547 447 HB3/HB4 H3
A—25— 4RF7/SKRF $60.10~H2.2 T12% 2947 = = =
FrSNY a—F S61.9~H11.5 E24% 2547 - - -
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